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This paper consists of two parts -Part - A (25 MCQ) and Part -B (6 essay type).
Part -A

Recommended time to complete the Part -A is 1 hour.
Answer ALL questions
Choose the most correct answer to each question and mark a cross ‘X’ over the answer on the
answet sheet.
Any answer with more than one cross will not be counted, -

| Part - B
Answer any four (04) questions. If more than (04) questmn are answered only the first four
will be marked.: : :
The use of non-programable electronic calculator is permitted,
Mobile phones and other electronic devices are totally prohibited. Please ledve them outside
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- - Planck’s constant h = 6.63 » 10 J s .
- ~ Velocity of light C=3 x 10® m s y
Avogadro constant L = 6.023 x 10% mol! :
' 1 atmosphere =760 torr = 10° N m
Gas constant R =8314 J K ' mol’
[I’le: 2.303 Eng

Relative Atomic Mass H -1, C-12, N -14, O -16, § -32, CI-35.5 Fe -56, Ag -108,




PART — A

Answer all questions
aTe060r  ellaTEEEHBGID ol wealibags

1. WLlCh of the following statement regarding £3X is true?

23X GanLiure Naieumh sbBpsallsd ch 2 asenwnem?
(1) Atomic number of X is 23 (2) X has 12 protons

X @6t &igmustent 23 X syemgy 12 (@i dysiimensnd  Garami(Beleng
(3) Mass number of X is 11 (4) X has 1| neutrons '

X @t Sewiley sten 11 X oyemg 11 Bluydhdyssenans Goremibsiiens)
(5) X has 11 electrons .
X gyeng 11 Geopdlysmencnd O Hsiend:

2. What is the electronic configuration of Fe? (Atomic number of Fe is 26).
Fe @i @s\)g)ﬁg@ﬂsmsumsmwuu 6@1‘? (Fe Bty g@m(aansm 26)
(1) 15725 2p63s 3p°3d’4s”  (2) 15°25%2p%3s73p"3d 45’ (3) 15%25%2p° 5323p 2dé—fl.s

(4) [Ar]3d°4s! (5) [A1]3d 4"

3. Which of the following equation represents second ionization energy? - oo
L efisu(pLD Floa@LITBaarled ) Girein_Ab - SULIGTTEE FbgiEnuLs
Uy HiilBSHInCILIBSSIHHDEI? T
() Mg" g ——> Mg Twte )

2 Nag ——r Na’ Jote
G)Mgyg —> Mg’ L@t 2e
(4) Mg m —> I\fig mte
(3) Na g — Na" ate

4. The atomic number of Neon (Ne} is 10. Neon belongs to?
Bewrer (Ne) @eil sigmGeussit 10 oygpib. HIBULITET - o _aT6n_Rgmst?

(1) Period 2, Group 13 (2) Pm'od 3, Group 18 .(3) Period 2, Group 18
EReUTSHEEMD 2, Sl L 1D 13 speuishmemd 3, sl 18 suairssend 2, gal L b 1“’:

(4) Period 3, Group 15 (5) Period 4, Group 18 s '
ST HHaND 3, L 15 aLaihoHmb 4, gl 18

5. What are the symbols for ALL the atomic orbitals found for.L energy level? 2
L sedolisfne ol aior  oigy  glbpsssibeore @i

sT6m6u 7 e
(1)2sand 2p {2)3sand 3p {(3) 3s (4}‘:23 (5) 3s, 3p and 3d
6. Which of the following is Not true fior the Group IA elements?: A T

Leieugpaucmeuiieied aniitb A eprElisalig 2 siemo gls‘emarg,@ G =:,j’ R R SN

(1) They are harder and desiser than Group 1 elements. S N Tl
Sime  Fal LD | ppsosnussilgond 1midHs  SIQeuolsien suljid Q{Lng)g‘)lu_nm”»anw e
A1,

(2) They are metals

Slener 2 GeuTaIBlanei
(3) They are named the alkali metals .
Siemel &I 2 Gaunsmisal se QUi (D 0
(4) They usuaily form ionic compounds
Sinel GUTHIOUES s GFTanaudmel £ _[HalTHELD
(5) They exhibit a +2 oxidation state in compounds
seney Baiensumaied 12 o ABwmm plesvenuids &IGW0




Which statement is Not true about the oxides of Aluminium (Al)?
sideiune (Al) @er U ensloet ubpffiu mBosEsisd o aienDWBDEl orm?
(1) Al;05is a polymorphic solid
ALOs m LsdgIEh demiod
(2) Al;O4 reacts with acids
ALO; sulleobisersl s gﬂeseﬁ@p@fﬂmaf
(3) AI(OH); is amphoteric.
- Al{OH)z mfluisbLsolwigy
(4) AlLO3reacts with bases
ALO; sryrisEplel STHESPNISEDE]
(5) AI{OH)3 does not react with acids.
Al(OH)3 o1fe0misEml el HTHE(LpHIsSHe0en6y

What is the correct IGPAC name of the following compound?
Ustieumd Gorensuuiehr sflwmer [UPAC QUi ergy?

(1) 2,2-dimethyl-4-hydroxypropanal (2) 2,2-dimethyl-4-formylbutanol

(3) 4-formyl-2,2-dimethylbutanol (4) 4-hydroxy-2,2-dimethylbutanal
(5) 4-formyl-2,2-dimethyl-1-hydroxybutane :

What do you expect to observe when you bubble ethylene into KMnO, solution?
afeSer ;¢ KMnOy assmg&aﬁ@rsn GOIEsTTE  OFeuhEHIbCUITEl BT 6raliLimi deid

' - SIUSTEND  eTeiTen?

(1) Evolution of a gas- (2) Formation of a white precipitate
eumLy GleusMGu D : . Glsysiismen efipLigey 2 (meurdkhasin
(3) Decolourization of KMnO; solution (4) Producing heat
KMnQ, senrgede BimBa&sn : Glauiwd Uiminidsiin so
{(5) None of the above

Buomeai STEMAILID D660

. The following alkene polymerization reaction takes place giving the product P,

Uemsugptd  oibeSedllsh  Usdu@G@Swondssd  sfewsne) P ulemsid  sopetmisn
Banl_GILIMISlSTImEI. - .

H H H
Hzc={ + HzC:1 + .HZC={ """"""""" - - p

CH,4 . ' CHy -CH;
Pis; P on
" (1) Polyethylene (2) Polyvinyl chloride ; (3) Polypropylene
Gumedt e1gladel Gursfsmsusmenist 15 Conaranyl CumeliyGiFmismiulsSsir
(4) Polystyrene (5) Polyvinyl acetate
GuTederbent feir Gl msdlanenenensd SHFHOMID

11,

A sample of b mols of N3Oy, was placed in an empty 2 dm’ container and allowed to

- reach equilibrium according to the following equation.
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14.

b mols, N:Oug @6t ongfGuimeiim 2 dm? Ceubmids  GErsisnareRulgnis
eneudkElI (B ljlsmau@w FOAIUN g HEIERRIS  Fohismeut lsni_ il Lol L gy

NoOuig == 2ZNOa
At equilibrium, y mol of N»Oyy had dissociated. What is the value of eqml;bnum
constant, K¢ at the temperature of the experiment?
gsoRemeoulisd, ¥ mol NoOsyy Uflmswpng. B0 ufiCsrsmenuiel  Gaulimspoouilss
goilenss omfled K ulisit Qumiomssid wirg)?

"

2 2y 2y° 4y 4y*
(1) —=2 @2 @2 4y —= (65) —~
(b-y) (1-y) (b—y) b~y b=y
. What is the expression for K, of the following reaction?
1siengpid HTbsbHHls Ko @b Gesfiun® wrg?
CH COO{M +H,, = CH3COOH
¢ [CH3CO( )qu)] ‘ [CH COOH(a NE
IZAN CH,COOH
(3) KL‘ o [ (aq)] (4) K [ a;)]
[CH,COOH,,, | [HonY
CH,COOI
© K= e

(4., NCH,COO,, ]

The relationship between K, and K, for the following equilibrium
LTgiTaIhiD &wgﬂsmsuda@mu_l K, ommid K, @be Seniuleoren Gmmi
Ny + 3 = 2NHjqy s

(K, =K, (RT) | @)K, =K, (3) K. =K, RT

K
WKy = (5)Kp =K RT -

The solubility of X3S, is z mole dm SoluBahty product OszS"— i5
X285 @sm SENTHMEN Z moje dm’ SHiHLD. X2$3 Bett assmga%lmsm @UIH BT RIS,

(1) 67 (2) 108 7* (3)277 (4) 108 2* (5) 108 2°

. Lechatelier’s'Principle explains

@edFgnedwmsn HoHHsUD efendE g, : LRI
(1) why a reaction reaches equilibrium. .
©OGJEll qpih SHTEHSD - FBass rimrEnE| St SR
(2) the effect of change on a system at equilibrium :
goBleneoullsd Gy ST (BHTAT, 10MHNGENes  Hildbaib
(3} the effect of change on a system not at equilibrium
gioplemeouled @eveons e ioller (SHTar IHBHEHES6T Hitdbaob
(4) the effect of change an enthalpy
GleulILIYsTgmeEn®  IOTBBSHEH6H  HiFdho1D
(5) Why reaction proceeds at a faster rate
HUEHSB s6ll Sl SHUISD Henl Gmia aimg, a]

. 81.0 g of water 1s mixed with 69.0 g of ethanol form an ideal solution. Pure water and

pure ethanol vapour pressure are 3.6 x 10° Pa and 4.8 x 10° Pa respectively at 298 K.
The total vapour pressure (in Pa) of the solution is
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18.

19.

20.

81.0 g B 69.0 g eimGeamgush eis0suT  Hevsmeuuligad @eEodSILLE @b EeoL
HMPEFD o GANSamE. SR BT 0GnID S el Sigphennst wpameul 3.6 x
10°Pa wmpnp 4.8 x 10° Pa. wengaedsin Gorss aieluiipssd Pa G,

(1)3.9 x 10° o (2)8.4 x 10° g @3 12x10
(4)1.5% 10° (5)3.9x10" S
Which of the following molecule is linear.

etreugpld (psvbanmibetiisy sighl GBITeISI
1y COy (2) SO, (3) H,O (4) NH; (5) BCl4

Which of the following molecules contains polar bonds but is not a polar molecule?
Liledieu@bld eApsud ammiGemsd 618l (peneialt L Nsmestlil |Henens @&:nmr@meﬂ@ sTafgniLb
@ (PWEEY (APsOhHEnml Ble0ev?

- (1) Chlorine, Cl, (2) Hydrogen chloride, HCI (3) Trichloromethane, CHCl3

(4) Tetrachloromethane, CClL (5) Hydrogen fluoride, HF

What is the volume of 18.0g of pure water at 1.00 atm and 4 °C?
1.00 atm wmpnb 4 OC ufeh 18.0g airw Bfledr memsusne| eiedisn? ’
1) (1) 18.0ml (2) 16.0 ml (3) 14.0 ml 4) 12.0 mi (5) None

Which atom has the highest elecironegativity?
ah® S SUGaYD deigul 1HCEI T HgeamomuIh  CnmeBeitensl?

1) (HSH ) @c 3P Ho 35S

21:

22.

H-C-H bond angle of CHy is,

CH; @eit H-C-H enewiiny Gesiremid, 7 , _
1) 1000 N®) 106.5° (3) 120“ C(4)109.5° (5)90°

Theé wave number of a spectral line s 5 x10° m™ The ener gy cmrespondmg to thls
line s,
) ﬂmwnmmé.@&'rruqsﬁr sieweosiss 5x 10° m”. B @éﬁﬂ’@ Q@am_fumar F&a)

(1993 x 1077T - (2)349%x 1071 (3)4.45x 101

23.

- 24

25.

(4)5.95 x 1077 (5)9.93 x 107 kJ

The chemical formula of hypophosphorous acid.is,
g‘u@un&ug&ﬂmgg%ﬁl @yamuen  @,dh eI
(1) HPO, ~ {(2)HaPOq (3) H:POs (4) HgPO4 (5) H2P02

The volume, of 11.5 mol dm™ HCI squtlon lequued to prepare 10.0 dm’ a 0. 23 mol -
dm™ HCJ aqueous solution,

0.23 mol dm?® HCl gidsmyasd Gan 10.0 dm’ @ewen suiféss (ngsmenmrrsm 11.5
mol dm™ HCl @er mamausey

(1) 100.0 cm® (2)230.0 cm®>  (3)1000.0 cm® (4) 115.0 em®  (5) 200.0 cm”

Which one of the following molecules does not have a net dipole moment?
Ueeughld  peusmseisc o @ Caflu  @meesmensy SGoUSImemee
@asnmm@asbﬁsﬂe\)(ms\)" :

(HH,0 - (Z)BFS  @)NI, (4) CHCl; (5) BrF;




PartB: usdl B

Answer any Four (04) Questions
gorsugl (04} ellamaseineg sl weléses

1.

E

1311

=T E -energy corresponding to an electron in any level n

E - e gmGoumic ol L1b n @soith @_eiren @b Beosdlret GHMitenLwr Fag

(i) Draw a schematic representation of the energy levels in a hydrogen atom labeling
from n=1 to n=6 energy levels.
7 (I 0 Marks)
QB  DHTFN oigels)y 2 sl FEHOLLEGSmT n = 1 @sdmbs n = 6
QUEDIUITEN  FESI0L L mmenant QUi G e SIenioiny suemFLL &H5snen BUETHT .
(10 ysisiiseir)

(i Isa -photon‘ of energy emitted or absarbed when an electron transfers from n=6 to

n=2 energy level of the hydrogen atom?
(15 Marks)

SR 6T &@Jmﬂw n =6 @elphbe n = 2 sHSILLSSE  Beodsirsi
WIGIDBLITG F&gl Cur CLTaEeTs STslIGIOn SIGs0ds) 2 MlehariuGor?

(15 ysielasin)

(1;1)Ca]cufate the energy of an electron in hydrogen atom whenn=6andn=2.
(30 Mirks)
n=06 b n =2 om 2_eMenGLimg gg,gafﬁar g{@@i}@mﬂm Gk Beoddly sl
FhBlemD HIlbGHS.

(30 LyeTeTTas6iT )
(iv)Calculate the wave length of the radiation used mn the above electron transition
(25 Marks)
Gom syl L @eosArer | orpem sl LUEHILIG h B LILH LD kI ailn
SIS e (S, S (25 ysteflaeir)
(v} Write the definitions
(i), Aufbau principle
(11} Hund’s rule
_ (20 Marks)
U 6l 60 EINMBIDENET 6T - :
(1) owuresisa s&s0I0
(i) @emge eflgh
o ' (20 yenelimsi)




2. Consider the elements labelled from P — W in the following diagram of First

lonization Energy Vs atomic number in the third period of the periodic table.

eiieuiBd  (IpSHeomb  Sileandbs  Fho afii  ogmibaes - aeofils Po— W euenry
GiLwafie e eI e an_l_susmsumuj%sm apesImD - Syl g,g,amg)a’@;e‘nm
(PEVOLRILMETH  HHIh. ‘

1600 4
1]
~ 1400 - w
£ 1200 -
2 1 : v
= &
5';‘? 1000 | rF
@. 800 =
5 '
B 600 ¢ uw O
Q
= 400 b R
200
0 >
AtomicNumber
i) Identify the elements P — W in the diagram. ' (4() Marks)
SIERTLIL.SHHE apsusmisss P — W Qenel  @enmisreniis. . (40 L|6irarfias sir)
ii) Which element has the largest atomic radii? _. {10 Marks)
61D PGB Y HHInigll HBYEITEDTEHL 2 enLuiE? : (10 wysireriiessi)
i) Which element has the most metallic character? : {10 Marks)
GID apeRsD WibdInigul 2 Geundd; HeientDanils @&»f{ﬁﬁtﬂ@meﬂ@j? (10 yshaflsei)
iv) Which element has the lowest electronegativity? ' : (10 Marks)
6D (lpeumiD IGEEGMDHS Weibenglidhohaimmuis Cereipeiens? :
_ (10 yerelser)
v) Give the equation for the first and second electron affinitics of sulphur:
. (20 Marks)
FeulIflei (LpHETLD Talislisih) @resiLTD @mfj,gﬂgeﬁr BTL_I_ SHa e ea
FIDGTUTLIQenaH  HHSD - (20 yeisiiame)

v1) Explain why the second electron affinity of sulphur is endothenmc (10 Marks)
&suug‘]sm @pesi mD BYeohElsT LD §ei SIBERI HIPENLLIG 6160 ell6THE&HS, -
(10 LeiTeleEs6T)

3. (a) (i) Draw the Lewis structure of ammonia molerule NH;s, mdwatmg its three-

dimensional shape. Explain why ammonia has this shape. : -
SBuwrefiur  apsobgam, NHi @er  somullers  sii smiolany D6 @uummmm
CUQAIBMGH  GIGEGSHTY  amfs.  gal  oGorelur @6l angeIGHmEh
QanesitBeisngl cren 66T EHb.

(ii) Explain whether ammonia is a polar molecule or not. (30 Marks)
SIBOTIRLT @O (WHEIa] Apebsapt @sosmeown aen allsndgs. (30 ysiellsst)

(b) Using VSEPR thcory to predict the shape of BCl; and SF¢ © (20 Marks)

VSEPR Gamsiomaeowl  Lvwei®@s®d BCl;  wbmie SFe @elt engeumisenst
ST ETEYFn 1B, (20 yeiterhimsi)
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(c) When potassium is burnt in excess oxygen, a 'compouncl is produced that contains
54.9% potassium. What is the percentage of oxygen present? Calculate the empirical
tormula of this compound. (30 Marks}
Gum'Lrdune  Wenes  gUdflgalsd  afibsiLGoCuis, 54.9% GLT L g mas
Clareali o Gstamey pllbsiLbGasma. Brigsien @l dlgens eimhid eTeiam?
85 Goiovenulsll D@L GhaNhmHS oo, .

(d) The boiling points of the given compounds increase in the order CHy <H,S <NH;.

Explain this observation. (20 Marks)
Sl Gatmasallsl Garefemesst CHy < H,S < NH; Al suflensulisd
siBwflbadmen. Gl SaFTahms s, (20 yeirefimsn)

4. (a) (i) The following data were obtained for a sample of copper.
sioughld SHieussit e Qerin] widliflsg GuBHLL L sne.

Relative isotopic mass Percentage abundance
gt Fwognais SHexflel CUESHsS efEHID

62.93 69.17

64.93 30.83

Calculate the relative atomic mass of this sample of copper.
@& Gaty, wrefluls Curingnid Helloneud selods.

(it) The density of gold is 19.3 g/cm’. Express the density in kg/m”, (25 Marks)
HhsHHH o5 19.3 glem’, oI idsgenu kg/m’ B Ceusfuu@Hsiss.
' (25 yeireMEs)

(b} When haematite (Fe;O3) reacts with carbon monoxide in the biast furnace, carbon
dioxide and iron are produced. : S N
omgleneoullsd  gumenpi  (Fea0s) carbon monoxide o et - HTSBIPIIHELITEI,
STLsHGI e G- @mbLh 1 Apildsr @b, . ‘
(i) . Write down the 'balancefi chemical equation for this reaction.
@6 proEsSEBOIE FRILGHIN FOSIT enen QI(hEN:
(i) Identify the typé of chemical reaction involved in the extraction of Fe from Fe 01, -
" Fe;03 @efahgr Fe @evon PEOHEILMS  LRigLHHIL - Brenweig  HidHo -
BUESHHHENET - S6N BT @I, ‘
(1ii)Calculate the mass of Fe that could be extracted from 24.6 kg of Fe,0s.
(25 Marks)
24.6 kg FeyO3 @e0mhm INSOsGHs Ssgw Fe S Slswlleney HevoNiba &.
e : (25 yeierilesein)

(c) (i) Write down the chemical formula for each of the following compound.
Usiiughd @euGlounm Cotenenbonsn Eyenue GBHIHMG C(IPHE. .
Sodium hydrogen-sulphate, ammonium hydroxide, ahiminium phosphate
Camounk  spErFshH  FeoBumm,  oGureium WBOTTLnal (B, - Sigundeiiunb
GlursGLib . S

(1) Write down the name of each of the following compounds, (25 Marks)
dlsiieugpld geiblsur GFisnaub@lonsn Guunflenss ST GIE.
- ‘ (25 yshrefisel)
S04, S*, PO,

(d) Indicating the two half reactions, Write down the balanced equation for oxidation of
Fe*'ions by MnQy ions in an acidic medium. ' (25 Marks)
Quadil  SimIH  STESRE@ELD  GihsIbE g, S ol _HhHde0  MnOy
SIIsGeR 61T 6amay Ton Fe’'  sweimefr L FICuIBm ST 60 FOOUG BB
FOSSTUTL QNG STIPSI, ‘ (25 ysiremesei)

[w3]




{a) (i) An organic compound (X) contains C, H & O only. It contains 47.10% of C and
6.90% of H. Find the empirical formula of X. If the relative atomw mass of X is
- 205 determine the molecular formula of X. ‘
P CrmHas Caime (X)C,H & O @emen o Gib @&ns&m@e‘nm@ @m 47.10%
C supb 6.90% H gmub  Gerei@Gsisng. X Ger  Sispiue @) HNBHDH
menLgie. . X @6l @g)m_rru@g)gj‘]mﬂsu 205 aufer X @& apsobaaBm
GHHTHMSS Hhonellbes. o

~ (ii) Draw three possible structures for (X) (35 Marks)
(X) @he FThHUIDTE PHIT HLLDOLILIBMST 6UenTH (35 ysnafissir)
(b) Give the IUPAC names of the following compounds : (30 Marks)
etreugply Gaiemsumenen JTUPAC GuwiiEensish Hh. (30 yshehimsir)
0] o] . (in HOW _ (iii)w :
/\)J\OH NH, OH H
" ¢) Give the major product/s of the following reactions - (35 Marks)
" eeughly Srasmmeis Ligsren efsnene)/elensiamensis Hhd. (35 ysiraifiasit)
() CHiCH,CH=CHCH; 120 HBr A :
.. S0,/HgS0O
(ii) CH,C=CH H,S04HgS04 g
(iii) - CH;CH=CH, - OslZn D + E
(i) CHa GH CH=CH, F120
- ! . - HzSO4
CH,
(v) CH,C=CH _ Cudcl_ G

(Vi) CH3CECH CH3CH2 MgBF H

(a) SOy is reacted with oxygen to form SOs3y at 627 %C and Pressure of 1.6 x 105 Pain
closed vessel according to the followmg equilibrium. .
QO dpigul  LITSSHIT halget 627°C Geul lemey  wimie 1.6 x 10 Pa .9;@&,55@560
SOy s oUdloai & HrHsipbm aj}smsn@m Emﬂﬂsmuef,@&)mu SO Bemends
HOHHDE .

(i} - Write down the expression for the equilibrium constants K and K, for the above -

reaction.
Bun@GNiEE SHibsHEHBETM  FWHMmeD mn[ﬂlsﬁassﬂ K. wmpes K, @mbaren
GeneMium_ipemedl  GTUDSHIG.

(i) Write the relationship between Ko and K,
K inppnb K, @palenLulorss QbrLiniieme siipdis.

(iii) 3 moles of Oxygen and 3 moles SO react with each other to form 2.4 moles
‘of S04y at above temperature. Calculate Ky and K,




(iv)

Gl @liss  Geulinfeneoudsd, 3 moles gl dlFsr  ommitb 3 moles SOy
PMWLGH @em  graspnw 2.4 moles SOy Ben Bamhmelsang. K.
i K, Qsnevids Bemfld@s..

If the temperature of the reaction mixture increases to 700 °C and the pressure of
the vessel increases to 2.4 x 10° Pa, under above condition comment on the
production of SO,
STbss  saenaula  Gatiugansn700°C wirs DIBBPILGI i Ly hedst -
apssEn 24 x 100 Pa @eamed SIssfds LT, Gom@niia;s
BiLboemenmseflsr & SOz, G Umturssbunn st dlses.
(60 Marks)
(60 yetrefiasit)

(b) A saturated solution of Ag,COy is prepared by adding 0.5 g of Ag;CO5t0 500 cm’ of
water at 298 K o

(At 298 K Ky of Ag;CO3 = 3.2 x 10 P molPdm™) L
298 K @b 0.5 g AgCOs @ever 500 cm’ Bibg Gamiugss apsolb AgCO; @eir
@m BIOUG SeoFTed SLmlabsli1_g). ' Lo C

0
(if)
(iti)

Write the equation for K, of Ag,COs;
AgCOs @eir K, damran siosium” enen S1(pBIE

Calculate the amount of un-dissolved AgiCOg in the solution

SenjFadeveiten senFurs Ag,CO; G sisnsiencs Sl VB, - o
50 em® of a 2.5 mol dm® CI’ solution is added to 250 em’ of the above AgaCOy
saturated clear solution. AgCl precipitate is formed. Galculate the amount of

. AgCl precipitated.

2.5 mol dm’ CI' @eir 50 cm® Gofgnpiul Bybusrdsinn. AgCOs; Gsr 250 cm?

Qmaleumsy  senyssine Goidasinn g,  AgCl  sfipugsy - Bapretrafiu gy

sfipuigsuraws ApCl @sir eienemenss BT e (5. : :

(At298 K Ksp of AgClis 1.25 x 10 " mol® dm™®)

(298 K @b AgCl @en Ksp 1.25 x 10 " mol® dm™® syein) o
(40 Marks)

(40 ysireriiessir)
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